
8th Computer Science Chapter 3 Test

Sr Questions Answers Choice

1 Which of the following is not the component of the Excel interface.
A. Ribbon
B. Formula Bar
C. Heading
D. Status Bar

2 There are ...... methods for choosing the range of cells.
A. Two
B. Three
C. Four
D. Five

3 The references of adject cells may be denoted by
A. Cell address
B. Cell reference
C. Cell range
D. All of these

4 A collection of related worksheets, saved in a single file is called.
A. Cell
B. Sheet
C. Column
D. Workbook

5 The ....... is identified by the name written on the sheet tab.
A. Work book
B. Work sheet
C. Both of above
D. None of above

6 The starting number of row in a worksheet is.
A. 0
B. 1
C. 2
D. 3

7 Each .... in a worksheet is identified by a number.
A. Row
B. Column
C. Cell
D. None of these

8 The starting alphabet of a column is
A. D
B. A
C. B
D. C

9 Each ..... in a worksheeet is identified by a alphabet.
A. Row
B. Cell
C. Colum
D. Workbook

10 A----------- is simply a grid of rows and columns.
A. Work book
B. Work doucment
C. Work Sheet
D. All of these


